1o | eEXIDOOK

I Lorry I206 mrﬁ, cdf 4!2‘5 fnm, 7us 703 mm

2 (a) 1842m  (b) 638ml  (c) 700lg (d) 5287 kg
(€) 3474km  (f) 0-36Am  (g) 205¢ (h) 6-509kg
3 (a) engine oil: 2:8¢ screen wash: 3-975¢
(b) engine oil: 1-8¢ screen wash: 3-125¢
“ 4 (a) Ol (b) 0-9 (c) 05 (d) 02
(e) 025 (f) 075 (g) 0-01 (h) 0:03
() 075 () 0-001 (k) 0-467 () 0-074
5 (a) 0125 (b) 0275 (c) 01875  (d) 0-333....
(€ O111...  (f) 0-4bé...

6 (a) 2 =0375 2 =04 2 is larger

5 -3 7g I8 larger
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< is larger

I (a) & 15% (b) ,‘*060,%% (©) (or 1) 20% (d) 5, 70%

(e) 2 (or 3), _50% (0;8,80% (9) %, 40% (h) 2,75%

| (a) I00,3|% | (or' ),% (©) 2 20 (or. L), 10%

(d) 305 (or £),20%  (e) Tga? 7% (H 3% (or 55), 5%

2 (a) 5% (b) 40%  (c) 20%
3 (@3 (b)20  (c) 250
(d)28 (e)27 () 28
(9) 16 (h) 120 (i) 60

4 Quench 480 ml, Koolora 450 ml,  Sunfresh 490 ml

5 25% is soil

6 40 kg fertiliser
160 kg compost
100 kg sand

I (@) 10% (b) 20% (c) 75%
(d) 25%  (e) 20%  (f) 50%
(9) 40%  (h) 5% (i) 34%

2 (a) 4 (b) 250m
(c) £75  (d) £1-50
(e) I'2m (f) 150 stamps
(g) 35kg (h) 10¢

3 (a) 4 (b) 9 (c) 26
(d) 200

(e) 3 M 110 .

© 6% () 18%

() 35%

®) 0% (0 %

I (a) 15%
2 (a) 043, = (b) 32%, 0-32 (c) 70%,

(d) 60% or 06 (e) 0-08 or - (f) 12%or 1=
3 (a) 0-65 (b) 27%



(a) = (b) 0-8 () 22 (d) 20%
(@) T (b) F () F (d) T

(a) 2,06, 55% (b) 24%, ==

2
9%, 0-9, 99%, 9, 99

(a) 03, 2, 40%  (b) 1o5, 10%, 155, 0:06

£21

200 children

|Z games

Jamie 75%, Roz 74%

£109. Most expensive item eligible for % price is the sweater (£20).

Use 10% voucher on the jeans, as they are the most expensive item.

Use the £6 off voucher on either the shorts or the gloves.

(b) 0-1kg, 100g
(d) 2:5kg, 25004

() 0-7kg, 700g
(c) 17kg, 1700g

A 100g, 01 kg E 300g, 0-3kg
B 600g, 0-6 kg F 900g, 0-9kg
C 1000g, | kg G 1300q, |-3kg
D 1600g, I'6kg  H 1900g; 1-9kg

Pupil’s own answers.

Pupil’s own answers.

P‘u ‘il’sm OV\;I‘I“ qnswéfs.
P

Pupil’s own answers.

(c) 45684

(a) 1250g (b) 3125¢g (d) 2379g¢
(a) 5kg 482¢g (b) 7kg 634g (c) 9kg 513g (d) 6kg 747¢g
(a) 7132g (b) 8kg 716g (c) 4303g (d) 6kg 948g
(e) 1255¢g (f) 5kg68lg (g) 25699 (h) 9kg 74g
(a) 11950kg  (b) 34750kg (<) 4500kg

(a) 5 tonnes 900 kg

(b) 3 tonnes 300kg (c) 13 tonnes 950kg

Weight of passengers is 3 X | tonne = 3 tonnes = 3000 kg
Weight of bus = 8 tonnes 500 kg = 8500 kg
Total weight = 1 500 kg

Weight of truck
4 bags of gravel
100 paving slabs
20 sleepers

5 tonnes
2 tonnes
2 tonnes
| tonne 800 kg

Total weight

Practical work.

10 tonnes 800 kg



